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B. Com. (Part-IT) (Semester - IIT) Examin ation, December -2015
BUSINESS STATISTICS (Paper

I) (New) (Revised)
Sub. Code : 63110

Day and Date : Tuesday, 08-12-2015

. . 6280
Time : 03.00 p.m. to 05.00 p.m. Total Marks
Instructions: ) Attempt any five questisiis.

? Fﬁigurcs to the right indicate full marks.
) Useofnon programmabile calculator is allowed.
| Y

S 1) a : : .

"\) Q ) ) What 18 Samplmg? State advantages of samplmg over census method[S]
b o )

) tSi"ltrcite.ern.pmcal relation between mean, median and mode. Find mode of
e distribution whose mean is 45.9 and median is 49. [51

02) Define measure of central tendency and state different measures of central

te.nder?cy. Calculate mean, median and mode of wages of 50 workers of a firm
given in the following table.

[10]
Wage in Rs. 25 35 45 55 65
No. of workers 3 12 20 10 5

J Q3) State absolute and relative measures of dispersion. Calculate coefficient of
variation from the following data. [10]

Pocket Expense in Rs. 0-10 | 10-20{ 20-30 |30-40{ 40-50 50-60\

No. of Students 3 4 g8 | 10 13 2 \

Q4) Define mean and standard deviation. For a group of 100 items the mean and
variance are 60 and 25 respectively. For another group of 50 items mean is 90

and S.D. is 4. Find the mean and S.D. of the combined group of size 1%(;
. i
items.

BI.0.
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aleulate Karl
(10}

oy Mat is correlation? Pxplai - ; :
Q5) W hat is correlation? Fxplain positive and negative correlation. C

Yy ' o b EPTE R Sk s . "
Pearson's coellicient ol correlation from the following data.

Sale(X) L 22 21 21 201 20 19 19

Profit (Y)Y | 20 15 16 22 19 15 1 14

Q6) Write cquations of two lines of regression. You arc given

$ X =400.3 Y =500.N=10,0y =250y = 3.5 and r=0.8. Obtain the regression
[10]

cquation of Y on X, estimate the value of Y when X =55,

nee of three observations 2, A and B are 3 and |

Q7) a) The mean and varia
ns A and B? [5]

respectively. What is the product of two observatio
ation coefficient and two regression

b) State relation between correl
= (.3 then find bxy. (5]

coefficients. If r =—0.6 and b,
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j Total No. ot Pages : 2

B.Com. (Part-17) (Semester - 117) Examination, November-2014
BUSINESS STATISTICS (Paper - I) (New)
Sub. Code : 63110
Day and Date - Friday, 28 - 11 - 2014 Total Marks : 50

Time : 3.00 pP-m. to 5.00 p.m.

Instructionsg : 1)  Attempt any FIVE questions.
2)  Each question carry 10 marks.
3)  Usecofcaleulator is allowed.
4)  Figures to the right indicate marks.

Seat
No.

Q1) a) - Define the terms. Give example of each term.
)  Discrete variable ii) Continuous variable

b) If the mean and Std. deviation of series of 100 values are 50 and 4
respectively. Find the sum of values and sum of squares of values of this

series.
. [5+5=10]

0Q2) What is average? When the average is said to be good average? How does

arithmetic mean satisfy it?
The monthly income of seven families is given below.
Family | A" B C D E F G
Income |7000 | 5500 | 4000 | 2700 {3000 | 1500 3000
(Rs) :
[10]

Find mean, median and mode for same.

03) Define S.D. and C.V. |

What is the use of C.V? ‘
The mean and standard deviation of a sample of size 10 were found to be 9.5

and 2.5 respectively. ’ - | .
additional observation “15” is included in the original sample.

Later on an e : 10
Find mean and standard deviation of the 11 observations. [10]

21.0,
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Q4) What is meant by correlation? Distinguish between Positive and Negative

Q3)

Q6)

Q7)

correlation. [10]

Find Karl-pearson’s coefficient of correlation

AgeofCars [2 [ 4 [6 17 8 | 10| 12

M.cost Rs.) | 16 | 15| 18] 19| 17| 21| 20
(In’00 Rs.)

Give definition of regression coefficients. What are the equations of regression
lines? - {10]

Obtain equations of regression lines for following

X1214{6|8T10
Y[S|7]l9]s8]|1

Define Rank correlation coefficient.

What are the steps to find rank correlation coefﬁment for certain pair of
observations? {10]
Calculate rank correlation coefficient for following.

Sales(X)  [50[55 [60 |65 65]65 |70

Expenses (Y)| 11 | 13 |14 | 15| 16|13 | 22

a) If quartile deviation of certain data is 40 and coefficient of Q.D.is 0.2

Find two quartiles.

b)  Why sampling method is better than census method?
[S+5=10]
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Scat Total No. of Pages = 2
Nao. ’
B.Com. (Part- 1) (Semester -1 Examination, November - 2016
STATISTICS
BUSINIESS STATISTICS (Paper - I)
Sub. Code = 63110
Day and Date : Monday, 21 - 11 - 2016 Total Marks : 50
Time : 03.00 p.m. to 05,00 p.m.
Instructions : 1) Attempt any live from following.
2) Use of calculator is allowed.
3) Figures to the right indicate full marks.
4) Each question is for 10 marks.
[5+5]

Q1)

2)

o3)

o4

Define the term with suitable example

i) Discrete variable
ii) Qualitative variable

b) The average bonus to be paid to 200 workers was known to be 5000 Rs.
Later on each worlker decides to contribute 15%%0 of their bonus to the

a)

Relief fund. Find new average bonus?
[10]

Why arith. mean is called as good measure of central tendency?
Find value of 'x' from following frequency distribution of arith mean of the

same is 4.876

[Values [ 32 ] 5.8 79 | 4.5

[ x [ [ [CF

[10]

l Frequency

What are the different absolute and relative measures if dispersion?
Which of them is good measure? Why it is called as good measure of

dispersion?

Find Std. Deviation and its coefficient for following
No. of wickets 0] 1 2 3 4 5
No. of matches ] 15 (20 |40 |12 | &

[10]

Define correlation.
Explain the concept of linear and non linear correlation .
ation for following data and comment

Find karl pearson's coefficient of correl

on type of correlation.
x 1 2 3 4 S
v 1 4 =] 16 25 '
L PT.O.
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What are the cquations of regression lines? Give any two examples of
dependant and independant variables in real life. (10}
Obtain cquations of rearession lines {rom following
X =65.Y = 67. “°x = 2.5, °y = 3.5 and r = correlation coefficient between
& v=0.8 csumate value of Y when x = 70

Explain why sampling technique is better method than census method? [1 0]
What are the different methods of sampling? Explain any one of them?

a) What is relation between coefficient of correlation and regression
coefficients? Use it to find regression coefficient of X on W it [5+5]
1) Correlation coefficient between X & Y is 0.4
i1) Regression coefficient of Y on X is 1.2

b) 1If quartile deviation of certain data Ls 1.3 and coefficient of quartile
deviation is 0.4 find value of first and third quartile?

e
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Seant
No.

-e.{' . ('\
B.Com. (1),:.1 rxﬁ) (Semester - 1) Examination, Novcmhéi;!"?,ﬂﬂ
W STATISTICS (Paper - 1) (iRcvised)Cm:i‘)- a

(o ) ;
- Business Statistics i
| Sub. Code : 63110
Day and Date : Thursday, 23 - 11 -2017 ' }
' Total Marks : 50

Time : 03.00 p.m. to 05.00 p.m.
Instructions: 1)  Attempt ANY FIVE questions.
2) Useof non-programmable calculator is allowed.

3) Figures to the right indicate full marks.

. QI) a) If the arithmetic mean of 10 Iobservalions is 5.2 and sum of squares of
observations (£X?) is 400, find its S.D. and C.V. (51

b) Distinguish between primary data and secondary data. [5]
e’}f L s’f - W
(ot s | L
02) Define Karl-Pearson’s coefficient of correlation (r) betwccnn-fvg(g variables.
Inte f ~
2 - &
i) r=+4+1 i) r=-l andiii) r=0.
wing

Compute Spcarman’s rank c_brrélation coefficient (R) from the follo
- [10]

data: _
X: 50 52 56 51 45 58 65 75 90 50

v: 114 100 101 110 90 118 125 135 155 110

03) Define arithmetic mean and state its merits. The distribution of income

(in Rs.) of 750 persons is given below :
. 5 5-1010-15 15-20 20-25 25-30 30 and above

145 160 ,-140 105 50 f%,
Computpénédian and mode. _ | . 3&&_" - [10]
-;"w‘q:r bci ) ' -,Ah‘.“:)- _. 42y !
oy | s Min

LU RTO.

Income (in ‘000 Rs) : Below

No.of Persons:’ j» 60 90
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dian
[10]

04) State absolute and relative measures of dispersion. Calculate M. D. about me
from the following data :
3 -
45 30 40048 50 55 .41 49744 45 oLl
ST - .~
5 A
. My p : g ‘ﬂ.r:.:"‘i
05) Definie/(i)regression coefficient of y on x and (ii) regression coefficient of
x on y. State the relation between correlation coefficient and regression
coefficients. Obtain the equation of line of regression of y on x from the
[10]

following data :
X: 8 9 5 10 12 8 11

Y: 4 5 2 5 7 6 6

06) Define S.D. and C.V. The prices of two commodities at 7 different locations ®

are given below:

Commodity A (X): 15 17 19
40 39 42 48 45 52 55 O},

14 18 20 22

Commodity B",(Y)I
..r}r '\".’
Compare the ariations in the values of X and Y using CV. and comment
Nl W
on it. - %" N (10}
ph Lo
i "

echnique of stratified random sampling. [5]
oks is Rs. 250. Of them the mean price of 15

(5]

Q7) a) Explain the t

b) The mean price of 25 bo
books is Rs. 230. Find the mean price of remaining books.

Eorlr
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Total No. of Pages : 2

B.Com. (Part <:
: R |
] Xaminaﬁon,

. ': .-BUSIN o
A E April &
SSSTATISTICS (Paper-1 DI
Day and Date : Mong Sub. Code : 63119 ) &
nday, 24 . g4 . 2017 .-'}. J
Total Marks : 50

Time : 12.00 noon tg 2 00p
: Jam,

Instructions ; 1
L] ) z\ltc
mpt an
) Y FIVE questi
= ; ions.
gures to the rightindicate full marks

3)  Use
of non-
4) G Programmable calculator is allowed.

raph i
Phpaper will he supplied on request.

Q1) a) Explain pri
Primary data and Secondary data. Give an example of each.

b) State the empiri
pirical relation between
3 : mean and i :
to find Mean, if Median is 40 and Mode ;52 median and mode. Lise

o

A7 il
02) Statti Etﬁ:f___ﬂaﬂon bctw.cen correlation coefficient and regressiti"{:i'?i-"oefﬁcients
andVer fy them by using following data. C~” [10]

X[ 2 | 3| 4| 716

Y 10| 7 3 1 2

bined S.D. for two groups. The Mean and
65 and 10 respectively. Another group of

59, Find mean and variance of combined
[10]

Q3) Define combined mean and com
S.D. of 100 items was found to be
50 items with each value equal to

group of 150 items.

e the

o. Give an example of each. Stat
[10]

ulation and sampl

04) Define the terms POP
' over census method.
advantages of sampling method o
- (ﬂ‘f F i {'\{:z L"
§ i ¥ ,-’ :
L2~ N
.;:-:: o i:;‘:\’.:)
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Q5) State tl.e equations of regression lines. From 10 observations on price (X)
and supply (Y) of a commaodity, the following data were obtained.

T X =130} Y =220, ¥ X* =2288, T XY =3467 ol
Compt{tg@_l;lj’e"équation of line of regression of supply on pric_;‘e@n‘d' estimate
the supply when price is 16 units. R [10]

et 0

06) State the requirements of a good averages. Define mean and median, Find

mean and median for the following data. [10]
Wage in Rs. 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of workers 9 13 25 11 7

Q7) a) Interpret, if i) r =+ 1, (ii) r = —1, (iii) » = 0, where r is correlation
coefficient.

b) Define M.D. about mean. Find M.D. about mean from the following

data.
31, 8§, 29, 63, 55, 72, 37. _
L";T’* . {"’ ’ ’ 3 ’
. F F awd i_ },D [10]
'?.:.ui""“‘ Yy %;ﬂw
. Ky %
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No. | Totsl No. Inif Pages .3 o
No. o.

B.Com. (Partcxih (Semester IV) Examination, Novembﬁf{;ldol7
S STATISTICS (Revised) Q\E

) Business Statistics (Paper - IT)
Sub. Code : 63124
Day and Date : : Thursday, 30 - 11 - 2017 ' Total Marks : 50

. Time: # 12.00 noon to 02.00 p.m,

Instructions: 1) Attempt ANY FIVE questions.
2)  Useof non-Programmable calculator is allowed.
3)  Figures to the right indicate full marks.

Q1) &) State the advantages of statistical Quality Control (S.Q.C) [5]

b) The first and third quartiles 6f a normal distribution are 80 and 116
respectivgly. Find the mean and Standard Deviation (S.D.) - (L

= %
. Q2) Dcﬁ.@mdex number. State the formula for Fisher's pn@mdex number.
' Compute Fisher's quantity index number from the following data : [10]

Commodit_y 1999 iy 2000
Price Expenditure | Price Expenditure

A 8 80 10 80
1B 20 .| 100 25 250
C 5 75 8 96

¢ o | 70 .| 12 . 120 0
=g yxadl
< 7

P.T.O.
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03) Define time serics. State the components of time Series. Compute 3 - )}eaﬂy
moving averages from the following data. Plot the original and trepg Vﬁlues

the samecgrhph. , {
on "gj ; ;b
Ycﬂrc'.)\:) 2001 2002 2003 2004 2005 2006 2007 &)Qg\zogg 2010

Production: 21 22 23 25 24 22 25 26 3 o

(‘000 tons)

[10]

04) Define standard normal probability distribution. State its mean and variance, |f
X has normal distribution with mean 100 and Variance 25 find P X> 108)
if) P (X < 110) and iii) P (90 < X < 110).
. (Areafor SNV.ZfromZ=0toZ=16is 0452 and Z = 0to Z = 2 s
0.4772
) 05]/ | n [10]
X ‘l:b
N ' " AN

o | ,
05) “ﬂlat@ S5.Q.C.? Following data were obtained over a per% of 10 days on

a quality Characteristic of a certain manufacturing product,

~ Sample No: 1 2.3.45 6_'7 8§ 9 10
Mean : 12.8 _'13'.'?11 135 129 132 141 12.1 155 139 142
Range: 21 31° 39 2119 30 25 2825 20

Construct - Chart and comment on the state of the process. (Forn=5, A, =0.58)

- i [10]

(6) Define the tcr(ms: lmutu'alllj'(f exclusive events and Independent evel}i.
If P(A) -\Q.;%’(B) =0.6 and P(AnB)=0.2, find i) P(A uf(l_ﬂ(;o P (A/B)

and i} P(A). | CJ\ [10]

J-



Q7) a)  Explain cyclical variations in time series.

b) Calculg%?.rice index number by using simple aggregate methiod from

the following data.
X
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(5]
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e
*

i

By z g
'Commodity Rice | Wheat | Oil FHD|
Base year price |10 8 40 80
Current year price | 15 12 80 100
¢
7 &
R
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